A3l dag JalSU1

i 4eunga 8-1

;.\Mn,.m SIS pggan 8-2

Juatsat Aal_gé-aé_”.;.e Jlgd Jelsiti 8-3

f Jalsatt 5,0 8-4
i gt day ey Jelsiti 8-4-1
A.!):s.d|d.a.u:.vsu el 18-4-2
Ui 3908 1| 2 p 301y JolSH1 843
;3.\4!'..431 Jalsat 8-4-4

Jalsait mf.\mma@ms_s
ST Sy Ay g Bty z.aﬁ.s.mmu st (8
ligiauet padlh cluo (o
z—]f-'f-d‘ubil'ﬂ lus (>

f Ol Jumdt Akl

l

/

7







Oy TN

olill Jemali
a_ilAuksig o olsill
integration and its applications

JIntroduction &k S-ﬂb
S 0 S0 il ol D gl B ol 88 e
L‘;‘)&' slac) (31 5k e Integration JelSH g g Y dpuxigh s Y Leimay
44 ¢ 28, Definition of indefinite integral Al ssaal e Sl Lozl 4
How to integrate some known 48 aall Jsall sl ;e JalSi W alny
L dmall g S 0 e iany ey Adkdal (3 pdal) (e s functions
43y 5hy JAS3 5 ransformation of variables Jygaill f esl) 28 ey JalS3l
intepration Alapa suS JM So8ll LS 5 integration by parts 43—l
Definite integral asaal JASH o byt 2w @) S5 using fractions
e B Juaill (g siny 5 examples LBV o paall o J il oy

.exercises AV o yaxdt e
asebe 8-2 Cinaal Leia inlin 832 Cpanaisn Joaill 138 b Ml
Jalsill 8-3 Cuayally The concept of indefinite integral sasall e Jolsslt
(b 84 Cusaally Rules for integration JalSill el jd— iy, aa Yo
Apalaifyl cliglall 85 W Gl L Integration Methods Jelsi

.Economics application for integrals (Jalsall

Aber Juad Al ditferentiation Jualéilly s 13la G Loae Bdaa

s Ll Ll Bdeall o B pally o g (Y 5 derivative Aaidal Aay
AT ety integral JolST A slad it Sl g integration JASSY e
Ay Llaald Tgaall s (5 2T olilly Loghe S 588 e gl ol Jks

:The concept of indefinite integral sl & Ja\&'ﬂlr,g.u 83&

JT




LRV By T 3T oy 1aW 8 Ll ol iU TS
\

[ 30 M asle QS 345 . JelSal pud Lo Gllay puSlas dydee Aiiall 22
Wl «indefinite intogral ssaall s JSEly ey @iy ) dx sy

"
e g V) giie g definite  integral sl JolSSl Jr g If(.\')dx

a

:gﬂls Jalsall
oedall oallyy e Jlaa 8 g(x) Vol d8sa a0 f(x) Aol <l 1y
et gM 5 x

§'=f
ey el Jlaall b () A S5 g(x) T panss ikd
If £(x) is the derivative of the function g(x) for some domain with
respect to the variable x.i.e, g'(x) = f(x). Then, we said that g(x) is the
integration of the function f(x) for the same domain,
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for example: (x2 + 3x +1)/ =2x+3

Then, the function %2+ 3x + s the integral for the function 2x + 3
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Find the value for the constant ¢ such that the integration of the
function 2x — 3 equals 7 if x equals 2.
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The following are some useful rules for integration, where n is a
Real number. a; and a are real constants. and ¢ is the constant of the
integration method.
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